
 

 

Calculus   Worksheet #4   Unit 9   Selected Solutions 
 

      Integrate each of the following. 
      

∫x(x – 5)1. dx =4

let u = x – 5
x = u + 5
dx = du

∫(u + 5)u4du =

u5( + 5u∫ 4)du ==

= u6+ u5+ C =1
6

= u5(u + 6) + C1
6

= (x – 5)5 [(x – 5) + 6] + C1
6

= (x – 5)5 (x + 1) + C1
6

let u = 5x – 2
1
25 = ∫ u6( + 2u5)du =

x = (u + 2)1
5

dx = du1
5 = u6(3u + 7) + C1

525

= (5x – 2)6 [3(5x – 2) + 7] + C1
525

= (5x – 2)6 (15x + 1) + C1
525

dx =x(5x – 2)53. ∫ (u + 2)1
5 ∫ u5 du1

5[ ] =

 = [ + C+u71
7 u61

3 ]1
25

 
 
         Alternate method 

dx =7. 2x + 3√x∫
let u = 2x + 3

x = (u – 3)1
2

dx = du1
2

(u – 3)1
2 ∫ du1

2[ ] =u√

∫ du =[ ]1
4= u

3
2 – 3u

1
2

 + C[ ]1
4= u

5
2 – 2u

3
22

5
1

10= (u – 5) + Cu
3
2

1
10= [(2x + 3) – 5] + C(2x + 3)

3
2

1
5= (x – 1) + C(2x + 3)

3
2

  

dx =7. 2x + 3√x∫ (v)(v dv) =1
2 ∫
∫1

2=

1
10=

1
10= [(2x + 3) – 5] + C(2x + 3)

3
2

1
5= (x – 1) + C(2x + 3)

3
2

let v = 2x + 3√
v2 = 2x + 3

dx = v dv

x = 1
2 v2( – 3)

v2( – 3)

v4( )dvv2– 3

=  + C[ ]1
2 v5 v3–1

5

v3(v2 – 5) + C

 
  
 
 


